
Santa’s Broken Stick

Enigma no2

19th December 2024

Santa Claus, being very old and wise, always carries a trusty 1.6-meter stick to help him on his long
journeys. One frosty evening, as he strolled through the workshop, disaster struck—the stick broke into
two pieces!

The oldest elf, quick on his feet, picked up the smaller of the two pieces and decided to use it as his
own walking stick.

On average, what is the length of the elf’s new stick?
Provide your answer in millimeters, rounded to the nearest integer.
(Don’t worry—Santa was gifted a brand-new stick, custom-made by the elves!)

Santa with his stick.

Note: Suppose the breaking point follows a uniform probability law along the stick
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